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EyERIE LEERE(A) HIEESRE(B) IEF(A)-(B)
REBENG 301, 878,079 297,188, 546 4,689, 533
(fa) SHEUNZE 0 0
gy | (ED) URzE 0 0
i | FERESE MR 0 0
ORI 0 0
Y-EXEEURERET (1) 301, 878, 079 297, 188, 546 4,689, 533
Y A& 222, 841, 243 218, 583, 581 4,257, 662
L |=xm 37,887,188 33,284, 352 4,602, 836
; ES 16, 603, 055 16, 994, 086 -391, 031
E (fa1) &EH 0 0 0
B |FAEREERE 0 0 0
B e 11,473,138 12, 438, 696 -965, 558
;g* | e S R S A -2, 059, 131 -1, 834, 386 ~224,745
Fi (=S 0 0
EHEIEEIN 0 0
HOURTRERE 0 0
BURTEES I HBIBA 0 0
ZOMMOER 0 0
Y-EXESHERT (2) 286, 745, 493 279, 466, 329 7,279, 164
Y-EXESIERESR (3) = (1) - (2) 15, 132, 586 17,722,217 -2, 589, 631
BALFISHBIEINZG 0 0 0
ZHA SR L SN 13,143 6, 890 6, 2563
H | Iy [HEEALEREHEE RS & S HUF SN 0 0
|| & | B Rl 0 0 0
; ZOMOY—-EXHEESMNE 1,738, 604 1,481,788 256, 816
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| [HLFIR 449,490 687, 766 -238, 276
S (ARSI AT EA SIS 0 0
f; o [EapEmE 0 0 0
o | P |z 0 0 0
g ZOMOY-EREBHNER 8, 840 204, 558 -195,718
Y-EXEEIERET (5) 458, 330 892, 324 -433, 994
Y-EXEEIMERERE (6) = (4) — (5) 1,293,417 596, 354 697, 063
BEERELE (7) = (3) + (6) 16, 426, 003 18, 318, 571 -1, 892, 568
it R A G 2,786,047 200, 200 2,585, 847
S ERREEM UGS 0 0 0
REEEEREASTREESTH NG 0 0 0
iy | B AES 0 0 0
o |EEEETT AR 0 0 0
H—EAX I RHEASUNE 0 0 0
TOMMOFFBIINES 0 0 0
;?J FFBIIRERET (8) 2,786,047 200, 200 2,585, 847
| |EAEEAE 0 0 0
W |@mEmE 0 0 0
O |EEamEsiE 8 0 0
: EEHEE SR S (FRE1%) 0 0
i EEHE e SR £ 2,786, 047 200, 200 2,585, 847
PAESSEPS 0 0
Y-EAXDEHEASER 0 0
ZOMEOERIES 0 0
FRIEMAET (9) 2,786,047 200, 200 2,585, 847
BRIEAZE (10) = (8) — (9) 0 0 0
UEPEBISHALE (11) = (7) + (10) 16, 426, 003 18, 318, 571 -1,892, 568
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BIEAREUEENIERAERE (1 2) 196, 193, 457 162, 042, 886 34,150, 571
LR RREEENERESR (13) = (11) + (12) 212, 619, 460 180, 361, 457 32, 758, 003
EAEHERE (14) 0 0 0
TOMOIEIEEFHRE (1 5) 0 28. 000, 000 -28, 000, 000
TOMOIEIIEIEIZE (1 6) 20, 368, 000 12,168, 000 8, 200, 000
REHEBCEBIERES (17) = (13) + (14) + (15) — (16) 192, 251, 460 196, 193, 457 =3, 941,997
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